IECSRGBU6 triangle lightnesst*
t* Ync_YW nc_loox

*1EcsRaBUB=50 (Y/Y) 2 4(Y,=18, ¥,/1002Y<=Y, )
t*(3.6)=26 1% ,(18)=50,t* ,,(90)=98

=97, 77,y=2,4, 4=1/2,2=0,4".
t*16=50,0Q 550,00 D,= -0,0°
t3,625,51,t4,=50,0Q Y.~18

t*,=50,0Q m,=47,94

application
range

Ya=3.6  Yu=90

Iog(AY) IECSRGBU6

AY tristimulus value difference
Yoc=Yw - nc=100,

t*1EcsraBus=50 (V/Y) M2 4(Y,=18, Y,/ 100<Y<=Y,0)

log(dY) = (1/2,4) log[2,4Y,/50)] + [1-(1/2,4)] logY)

s

dY¥o=12,27 y=2,4, 17
dY;g=4,8Q ur: applicalion

ange

!YW 7 log

log (AY/Y) IECSRGBU6
_ tristimulus value sensitivity
SOV Yoc=Yw - nc=100,
t*lEcsraBus=50 (YY) M2 4(Y,=18, Y, /100<Y<=Y,0)
log(dY/Y)= log[2,4(Y,/50)] - (1/2,4) log¢/Y,)
= (1/2,4) log[2,4¢,/50)] - (1/2,4) logy)
' 4 .
= a
logAYIVE0Shs 4-l- -2.a, application
=50, d¥,=4,80 dY,/Y,=C,2%6uC 1 *.4ange
1
(dY/Yy=0,1363y=2,4, 14=1/2,4=0,41
(dY/Y)=0,2666 S=50,0Q D,=—0,00
(dY/Y},6=0,5202 Y,=18, dY=4,80
'v,=18
1 Yw=90

Yn=3.6

log (Y/AY)
C,=(Y/AY)

IECSRGBuU6
tristimulus value contrast
Yoc=Yw - nc=100,
¥ IEcsraBus=50 (V1Y) M2 4(Y,=18, Y, /100<Y<=Y,0)
log(Y/dY)= — log[2,4(/,/50)] + (1/2,4) log{/Y,)

= - (1/2,4) log[2,4Y/50)] + (1/2,4) logY)

t*,=50, dY,=4,8Q Y,/dY.~5

1
(Y/dY»o=7,33,y=2,4, 1{=1/2,4=Q,41
(Y/dY)g=3,74 $=50,00 D,=—0,§0  application
(Y/dY}6=1,92 Y,=18, dY=4,80 1 range
1Y,=18

Yyw=90

Yn=3.6

IECSRGBUG relative triangle lightnesst*/t*,
t/t* u Ync‘YW nc_loox

t*1EcsroBus=50 (Y/Y,) 2 4(Y,=18, Y,/ 100Y<=Y, o)
t*(3,6)=26 1+ ,(18)=50,*,,,(90)=98

togt =L, 95 V=2,4, 14=1/7.,4=0 41
tr gt o 0,0
3ty =o 51 t,=50,00 =1,

application
range

Y,=18
e

-
t/t* J=1, m=—0,29
L L*,=49 t*,=50

Yn=3.6

log(AY/AY,)
AYIAY,

IECSRGBuU6 relative
tristimulus value difference

Yne=Yw nc=100,
t*1EcsreBuB=50 (Y/Yy) Y2 4(Y,=18, Y, /100<Y<=Y, )
log(dY/dY,) = [1~(1/2,4)] log¥/Y,,)

QYoo dy=2.85.y=24, 14=1/24=0.41
dY;¢dY,=1,00 $=50, )
dY; gd¥,=0,39 Y,=18, mg 24,80

. p ¥
=50, dY,=4,80 dY,/Y,=0,2666 ¢

o~
log[(dY)(dY),]=0, m,=0,58 _ ¢*"1

- 1 application
- 1 range

1y,=18
Y=90

T Va3e

log [(AY/Y) I (AYIY)] IECSRGBUS relative

tistimulus value sensitivit;
SIS =@YMIAYNY), D S P oY

t*1EcsroBuB=50 (Y/Yy) Y2 4(Y,=18, Y,/ 100<Y<=Y, o)
logl(dYMN)/([AYM),] = - (1/2,4) log¥/IY,)

(dY/Yyo/(dYIY)= o 51,y=2,4, 14=1/2,4=0,41
(dY/Y)g/(dY/Y)=1,00 §=50,0Q D,=—0,00
(dYIYy (AYIY)= 951 V=18, dY=4.80

N application

log[(dY/YY(dY/Y),]=0, m~ -N.ai
*,=50, dY,=4,80 dY,/Y,=0,2666 }

1y =18
Yy=90

YN=3.6

log [(Y/AY) I (YIAY),] IECSRGBU6 relative

tistimulus value contrast
CrlCru=(YIB(YIAY)y - 2y, - =100,

t*1EcsreBuB=50 (Y/Yy) Y2 4(Y,=18, Y, /100<Y<=Y, )
logI(Y/dY)/(Y/dY),] = (1/2,4) loglY/Y,)

(Y/dYpo/(Y/dY)=1,95,y=2,4, 1}=1/2,4=0,41
(Y/dY)g/(Y/dY)=1,00 §=50,0Q D,=—0,00
(YIdY} d/(Y/dY)=0,51 Y,=18, dY=4,80

Iog[(Y/dYY(Y/dY],]:O m -3,41

1 application
1 range
'y,=18

Yy =90

YN=3.6




